EE )—J8 HE HhyTH HE
#i%Y EL: %Y L=

KA 6,000F9 6,000F9 5,000F9 5,000F9
SSIEERE

NP 4,000 4,000 3,000M9 3,000M9

XA 5,500/ 5,500/ 4,500 4,500
SIEERE

INRTS 3,500 3,500 2,500 2,500

KA 5,200 5,200 4,200 4,200
LT4—RY—h

INRTS 3,300M 3,300 2,300 2,300

KA 5,100 5,400 4,100 4,400
3MEBSCIREE

INRTS 3,100M 3,100M 2,100M 2,100M

KA 5,000F9 5,300 4,000 4,300
ATEERAVREAUR

NP 3,000 3,000 2,000F9 2,000F9

XA 5,000/ 5,300/ 4,000 4,300
ATIEERE/\WIREUR

NP 3,000 3,000 2,000F9 2,000F9

XA 4,200 4,500/ 3,200/ 3,500/
A2$EEEAVRAUR

NP 2,800 2,800F9 1,800/ 1,800M

XA 4,200 4,500/ 3,200 3,500/
AIBER/INVIREUR

NP 2,800/ 2,800/ 1,800/ 1,800M

XA 3,700 4,200 2,700/ 3,200
BEHHBEAVREVR

NP 2,200 2,200 1,200/ 1,200M

XA 3,500/ 4,000 2,500/ 3,000
BEHAEE/\YIRIUF

NP 2,000 2,000 1,000 1,000M

XA 3,200 3,700/ 2,200 2,700/
R— LY R—2—fE20

PR 1,700 1,700 700M 700M

KA 3,000M 3,500 2,000M9 2,500M
R— LY R—2—FE3RE LA

PR 1,500/ 1,500/ 500/ 500/

KA 2,500 3,000M9 1,500 2,000F9
R— LY R—2—FE3REEAl

PR 1,000 1,000 300/ 300/

XA 2,700M 3,200M 2,700F 3,200M
TITAYR—E—FF

INRE 1,200M 1,200M 1,200M 1,200




